AWM3003 saniQ

Mobile Floor Stand Installation for Panel TV

AWM3003 soniQ

Mobile Floor Stand Installation for Panel TV

This product is designed to mount flat panel televisions weighing up to 132lbs/60kgs with maximum flat panel mount installing

STEP-8
hole dimensions 80 cm(width) x 60 cm(height). It allows you to effortlessly tilt your new televusion up or down without using AA
tools.
Before installing the mobile TV floor stand product, please make ‘ Maximum support width

wall mount installing hole

sure your unit installing holes are well-prepared

Safety Warning:

Be careful to make sure there are no missing or defective parts.
Never use defective parts.

Improper installation may cause damage or serious injury.

B/C/E/FIGIH

600mm

Maximum support
high wall mount
installing hole

Install the monitor brackets onto the back of the panel TV: screw two
bolts into the holes in the back of the panel TV to install each monitor
bracket.

@ @« e @ @ oay emy @ @

(AM5%x8 x6  (B)M5x15 x4  (C)M5x30 x4  (D)M6x8 x4 (E)M6x15 x4  (F)M6x30 x4  (G)M8x15 x4 (H)M8x30 x4  ()M8x20 x10 Hang the two monitor brackets together
with the panel TV on the connective
plate, relax the hands until they are

caught hold of.

Install the two gusset plates

@ (7@ IT@ @ onto the U-steel holder and

A\ the supporting pole with
(JM8x40 x12  (K)M8x65 x4  (L)@6 Washer x4  (M)M8 Locknut x4  (N)@8 Washer x40 (O)M8 Locknut x10  (P)M8 Spring shim x16 some bolts,washer and nuts

as shown in the fig.

(Q)Plastic sleeve x4  (R)Square shim x4 (S)Inner hexagon spanner S=5 x1 (T)Inner hexagon spanner S=6 x1 (U)S=6 Universal wheel x4

STEP-6

e

Join the flat roof plate and supporting
pole with a M6x15 bolt pre-through a
M6 washer and then screw down with
a cross screwdriver.

V)U-Steel holder x1 W) T late x1  (X)Left | le x1  (Y)Right lower pole x1  (Z)Connective plate x1 AA)Left bracket x1
(V)U-Steel holder (W)Top plate x1 (X)Left lower pole (Y)Rig p ) p! (AA)Left bracke Mount two M5x8 cross bolts to

the upper vertical pole and
screw down with a cross
screwdriver. Shown as the fig.

AD

(AB)Right bracket x1 (AC)Supporting pole x1 (AD)Flat roof plate x1  (AE)Upper vertical x1

3.Installation and operation instructions
Note:please read the instructions carefully before installation!

STEP-11
STEP-1 STEP-2 — g?/Y
STEP-7
Mount the universal wheel to the thread hole of M12 in the left lower Mount the universal wheel to the thread hole of M12 in the right lower
pole and then screw down the M12 nut. pole and then screw down the M12 nut.
STEP-3 Y STEP-4
Join the supporting pole with
a M8x20 bolt pre-through a
J Join the left lower pole, right lower M8 washer and a M8 Spring
pole and U-steel holder with M8x40 | shim, then screw down with
bolt pre-through a M8 washer and a S=6 spanner.
a M8 Spring shim, and then screw
down with a S=6 spanner.
Join the connective plate and supporting pole with M6x65 inner Mount the upper vertical pole assembled with the top plate with four
hex bolt pre-through a flat washer and then screw down the bolt with | M5x8 bolts as a height needed for the TV and screw down with a
i . . X S=5 spanner. Shown as the fig. cross screwdriver.
Note: When mounting, align the pins and holes in the poles.




